O wINmAN

VQ Series Single Pump Ordering Code

VQI15
VQ20  SVQ25
VQ25  SVQ35
VQ35  SVQ45
VQ45 DVQ45
ORDERING CODE
VQl5 -17 F R A A 01
Model number | Displacement Mounting Type | Rotation DPi(s)glilt?(r)%e sgsclttllc())% Shaft Type
c.c/rev
VOI15 6,8,11,14,17, View from | 4. A: )
Q 19.23,26,31,38 ShaftEnd | Upward Upward 01:Normal
6,8,11,14,17, (Normal) (Normal)
VQ20 19,23,26,31,
38 F: R: B: B:
V25 18222632, Flange Type Clockwise | Downward Downward
38,43,47,52,
SVQ25 1 60,6575 R R
VQ35 gg’gg’z gégz’ L Knti- On Right Hand | On Right Hand
,24,108, Foot T ;
SVQ35 116,125 oot lype Clockwise L L
On Left Hand On Left Hand
s\\//%?s 136,156,189,
DVQ45 200,216,237
SINGLE PUMP WEIGHT LIST (Kg)
VvQl5 VQ20 vQ25 SvVQ25 VvQ35 SVQ35 VQ45 DVQ45 | SVQ45
Flange Type 10.3 12.3 16.7 23 36 33 52 61 66.5
Foot Type 12.7 17 21.4 31 44 41 60 92 74.5
Outlet & Inlet
Flange 0.9 0.9 1.6 1.6 2.0 2.0 32 32 3.2




D WV N IV A N

[ VQ Series Max. Continuous Pressure

)

VQ

Model

Geomefric
displ.
(c.c/rev)

Using antiwer oil or
Phosphate ester fluid

Using water glycol

fluid

Using water-in-oil

emulsions

Max Pressure|
(Kgf/em?)

Max Speed
(rpm)

Max Pressure|
(Kgf/em?)

Max Speed
(rpm)

Max Pressure|
(Kgf/lem?)

Max Speed
(rpm)

Min Speed
(rpm)

VQ15

06

08

11

14

17

19

23

26

210

1800

31

38

175

1500

1200

160

1200

140

1200

800

VQ20

06

08

11

14

17

19

23

26

210

1800

31

38

175

1500

1200

160

1200

140

1200

800

vQ25
SVQ25

18

22

26

32

38

43

47

52

60

65

75

210

1800

1500

160

1200

140

1200

800

VQ35
SVQ35

60

66

75

82

88

94

108

116

125

175

1800

1500

160

1200

140

1200

600

VQ45
SVQ45
DVQ45

136

156

189

200

216

237

175

1800

1500

140

1200

140

1200

600




D WV N IV A N

VQ Series Typical Performance Characteristics

Delivery Flow (¢ /min) at no-load pressure Running Speed Max Pressure
(rpm) (Kgflem?)
Model Running Speed (rpm) Max Min
1000 1200 1500 1800 Cont. Peak.
06 6.2 74 93 11.2 1800 300 210 240
08 8.1 9.7 12.1 14.6 1800 800 210 240
11 11.2 13.4 16.8 20.1 1800 800 210 240
14 143 17.1 21.5 25.7 1800 800 210 240
17 17.1 20.5 25.6 30.7 1800 800 210 240
VQI5 19 19.2 23.0 28.8 34.5 1800 800 210 240
23 233 27.9 34.9 41.9 1800 800 210 240
26 26.1 313 39.1 46.9 1800 800 210 240
31 31.1 37.3 46.6 - 1500 800 175 240
38 38.1 45.6 S S 1200 800 175 230
06 6.2 74 9.3 11.2 1800 800 210 230
08 8.1 9.7 12.1 14.6 1800 800 210 230
11 112 13.4 16.8 20.1 1800 800 210 230
14 14.3 17.1 21.5 25.7 1800 800 210 230
VQ20 17 17.1 20.5 25.6 30.7 1800 800 210 230
19 19.2 23.0 28.8 34.5 1800 800 210 230
23 23.3 27.9 34.9 41.9 1800 800 210 230
26 26.1 31.3 39.1 46.9 1800 800 210 230
31 31.1 37.3 46.6 — 1500 800 175 230
38 38.1 45.6 S S 1200 800 175 230
18 18.1 21.7 27.2 32.6 1800 800 210 230
22 22.1 26.5 332 39.8 1800 800 210 230
26 26.2 31.4 39.3 47.1 1800 800 210 230
32 32.1 38.5 48.1 57.7 1800 800 210 230
vQ25 38 38.2 45.8 57.3 68.7 1800 800 210 230
SVQ2s| 43 432 51.8 64.8 77.7 1800 300 210 230
47 47.1 56.5 70.0 85.0 1800 800 210 230
52 523 62.7 78.4 94.1 1800 800 210 230
60 60.2 72.7 90.3 108.3 1800 800 210 230
65 65.3 78.3 97.9 117.5 1800 800 210 230
75 75.0 90.0 1125 S 1500 800 210 230
60 60.3 72.3 90.4 108.5 1800 600 175 210
66 66.4 79.6 99.6 119.5 1800 600 175 210
75 76.3 91.5 114.4 137.3 1800 600 175 210
VQ35 82 82.2 98.6 123.3 147.9 1800 600 175 210
SVQ35 88 88.3 105.9 132.4 158.9 1800 600 175 210
94 94.5 113.4 141.7 170.1 1800 600 175 210
108 108.2 129.8 162.3 194.4 1800 600 175 210
116 116.1 139.3 174.1 208.9 1800 600 175 210
125 124.6 149.5 186.9 — 1500 600 175 210
136 136.8 164.0 204.0 246.0 1800 600 165 175
VQ45 156 156.2 188.0 234.0 280.0 1800 600 165 175
189 189.5 227.0 284.0 340.0 1800 600 165 175
SVQ4S 00 200.0 240.0 300.0 360.0 1800 600 165 175
DVQ45| 216 216.0 260.0 324.0 S 1500 600 165 175
237 237.0 285.0 355.0 — 1500 600 165 175

Gl 3 _ e



O wINmAN

VQ Series Single Pump Dimensional Drawing

VQIS5

Max. Pressure: 240 Kgf/cm2 (Peak)
Max. Speed: 1800 rpm

DISCHARGE PORT @ 15

176

2-@ 11 HOLES
@ 18 SPOTFACER 1 DEEP

[ —

13 = o
SUCTION PORT® 30.8 4-M8X1.25P —_HI ‘ % \f <
142 DEEP 17 % /:w S
_% R o T ST O e O 14
O\l & «a T I
N © 50 5|5 95
e ‘ i 98 245 72.5 72.5
“ L \@ | & ’ ' 180
315
&
| | r 7|, 245 Foot Type
262 17.5
4-M10x1.5P-DEEP 17 J NO.03-Shaft A B C
11-Teeth Spline NO.01-Shaft |#19.05| 21.24| 4.76
= 34" (19.05DIA NO.03-Shaft | _ Spline shaft
30" pressure
176 angle Flat root
25 44 side fit I 1333
56.5 J . 106
! 1 . ! { 35 +<:,’ +:
2 % 32
© /—ﬁ $§
g
S 2-0 11 HOLES
0 18 SPOTFACER
1 DEEP
V 2 O Max. Pressure: 230 Kgf/em'® (Peak) 197.5 4-0 13.5 HOLES
Q Max. Speed: 1800 rpm 67 @21 SPOTFACER 1 DEEP
I ]
DISCHARGE PORT @ 19.05 ]
13 45 . 1 ey
SUCTION PORT @ 31.75 \ 32 —H
L 23 A
©
< T T
/% G\ 60 73
i | I N s | 38 95 . 9
% 5 ' 230
&
‘ ‘ N Foot Type
4-M10x1.5P-DEEP 17
22 A B C
4-M10x1.5P-DEEP 19 NO.01-Shaft |@ 22.23| 24.5 | 4.76
NO.02-Shaft | @254 | 28.18| 6.35
NO.03-Shaft [@ 22.23| 24.94| 6.35
197.5 174
67 28 59.5 o o 146
23 T
LTI T AU AT U0 <] =
o | 46
3 32 .8
g — < 7 I N 7
o 1+ 1= N> & &ﬁ
S
i 2-0 11 HOLES
021 SPOTFACER 1 DEEP
s
95




O wWINMAN

( VQ Series Single Pump Dimensional Drawing

VQ2 5 Max. Pressure: 230 Kgf/cm®(Peak) . §§2 4-013.5 HOLES
Max. Speed: 1800 rpm _ @21 SPOTFACER 1 DEEP
T I 1 ! !
DISCHARGEPORT025 /_ﬁ
o 45
SUCTION PORT @ 39 32 .
29 E
&)
C T T
] 60 73
o
115 38
4-M10x1.5P-DEEP 18 Foot Type
40.7
79[ NO.04-Shaft A B C
4-M12x1.75P-DEEP 19 45 16/32 dp. -13
221 | sase p-- NO.01-Shaft [@22.23] 24.5 | 6.35
T . teeth30° NO.02-Shaft |9 25.4 [28.18] 6.35
— Ig’ pressure angle NO.03-Shaft |@ 30 33 7
L_ ©  Flatroot side fit. |NO.04-Shaft | Spline shaft
NO.W-Shaft | 928 [ 30.8 | 6.35
222 171
83 381, 595 d . 146
F9 o
- < T
| =17 P2
= 46 F<
# — = N Al g
A |
- - ) — = N o2
2-0 13.5 HOLES
021 SPOTFACER | DEEP
13
9.5
SV 2 5 Max. Pressure: 230 Kgf/cm’ (Peak) 238 4-0 17.5 HOLES
Q Max. Speed: 1800 rpm 83 381 595 | 726 SPOTFACER | DEEP
e ' I_h
lrh‘:l [ -
DISCHARGE PORTP1 @25 4-M10X1.5P-DEEP 18 i — s
SUCTION PORT 039 \ - B - gt g
/ _g I S
i fj 1762 '| 73 R S e
Py N 4.5 | 175 _|_ 1175
. 3 . F=a 131 274
® L@ ®
[ | | 132 Foot Type
57 Jo 01
4-M12X1.75P-DEEP19 26.2 245 NO.04-Shaft A B c
[‘_:—UX—S‘{: 16/32 d.p. -13 NO.01-Shaft |0 2223 24.5 | 635
:[E teeth 30° NO.02-Shaft | @ 25.4 22;.318 6.;»5
- pressure angle Eggi‘:gag Qsp?line shaft
Flat root side fit. Skl
238 NO.W-Shaft| @28 | 30.8 | 6.35
83 38.0_, 59.5 4
£ 99 211
: : < = 181
% -4 |
79
. e 5 . |
S « A\
_éf (’R/\ \/’\‘/\
1z L\ T )7
9.5 '
2-9 17.5 HOLES

@26 SPOTFACER 1 DEEP




O wINmAN

VQ Series Single Pump Dimensional Drawing

VQ35

21

Max. Pressure: 210 Kgf/em® (Peak)
Max. Speed: 1800 rpm

4-0 17.5 HOLES

@ 26 SPOTFACER 1 DEEP

Ny

DISCHARGE PORT @ 30 4-M10X1.5P DEEP 19
SUCTION PORT @ 56 Un B .
vl Nk
L = e
¢ 2 “ j{%l
e N V=t - il B
= \/@/ &;l; / | = 151 ol
— 40 117.5 117.5
\ i 274
429 U 55.2
302 79 38 Foot Type
4-M12x1.75P DEEP 19
I 23x45c  NO.03-Shaft A B C
T 12024dp-14 NO.01-Shaft | 31.75|35.32 | 7.95
I = teeth 30° NO.02-Shaft |0 34.9 |38.56| 7.95
s pressure angle NO.03-Shaft | Spline shaft
279 Flat root side fit. 213
90 112 gl = 181
! 75 FITS
%’ i — ' T 63 <| m B s— —
- 47 R J,/\l
° L %
2 | 5 oD@ 2
fis i &%
LJL 2-0 17.5 HOLES
- 026 SPOTFACER 1 DEEP
. 2
SVQ35 Max. Pressure: 210 Kgf/cm® (Peak) 278 4.0 17.5 HOLES
Max. Speed: 1800 rpm v 1 26 SPOTFACER 1 DEEP
T T 4‘**
DISCHARGE PORT @ 30 21 % o " | l‘1
9 4-M10X1.5P DEEP 19 LI f\
SUCTION PORT @ 56 = — T ™ -
- % =
17, >iin BN AN PALNPE
(t o§ i o %
% A Ar g i grﬁ—-ﬁw | © .
+ R i | s
= /ﬁ\ /?\ \ %1:] > 50 117.5 117.5
N \kj}\\//l I [ 2 131 274
% / B || 440 Foot Type
429 ]—30 )
4-M12x1.75P DEEP 19 A B C
NO.01-Shaft |0 31.75| 35.32 | 7.95
NO.02-Shaft |@ 34.9 | 38.56 | 7.95
278 213
97 112 3 o 181
[ ! 75 23¢s
g: i = r 63 <| m ) e —
. =] (TN
= =] 5 75 (”) P I
3 N8 D =
! L 2-9 17.5 HOLES NJ
026 SPOTFACER




O wINmAN

[ VQ Series Single Pump Dimensional Drawing

VQ45

SUCTION PORT 9 75
)

106.4

Max. Pressure: 175 Kgf/em’ (Peak)
g

Max. Speed: 1800 rpm

_§7 \\ \\,\

=

4-M16x2.0P-DEEP 19 DISCHARGE PORT @ 38

o
(=)

=] -

g

. L $3

(7 ] <

Vi ]

(=)}

\ 4 g | )

/ DAl i

4-M12x1.75P-DEEP 19

187

—
61.9 35.7
336
,_ 110.2 . 135
| NS
- 1 [ ]
I I ! ! j_ 70
; _% -0
% 55
(=)
s 1=+
—
o
RN 115 .
_E |
J 13

4-0 17.5 HOLES

336
0 26 SPOTFACER 1 DEEP
1102, 135
cannEnn
i | L
£ L ] o
S —P— 3
- )
I =2
o E
i I Sl
|762| 05 | I 151
59 117.5 117.5
131 274
Foot Type

211

181

e

2-0 17.5 HOLES

/m\ @ 26 SPOTFACER 1 DEEP
Ny i I’Z‘g
7/ \\

L

4

DVQ45

-M16x2.0P-DEEP 19

UCTION PORT @ 75

Max. Pressure: 175 Kgf/cm2 (Peak)
Max. Speed: 1800 rpm

106.4

218

61.9 357( |
- _
8 3 ’ 2 =8
— ° <
/ﬁ\;\ /4?\ D—ﬂd
I
-
- ]
]
337
111 126
43 83 .
BRI b
! ! = 70 g d
i | | —
o ——
:

(T

|
fe

4-@ 22 HOLES

@43 SPOTFACER 1 DEEP
|

o
N

187.3

.

3273

7T T[T
114.3
39
185 438
Foot Type
273 ,
228.6

140

4-0 22 HOLES

0 39 SPOTFACER 1 DEEP

N




O wWINMAN

( VQ Series Single Pump Decomposition Chart

4-0 22 HOLES
@ 43 SPOTFACER 1 DEEP

SVQ 4 5 Max. Pressure:175 Kgf/em’ (Peak)

Max. Speed: 1800 rpm Jj:%— | ]
L ﬁ ”ﬁ
fen — (N
S 5 — I/ g
4-M16x2.0P_DEEP 19 | | S
61.9 35.7( | o @
SUCTION PORT @ 75 S >
Iy =
(& oy 5
7 B \M o ?cl, T[T T[T [T
— / 2/ _E;X ’ - bt s 114.3
o 39
: N ==
= kj \ ; J,L JJ__U 185 . 438
— o]
ﬁ_— — Foot Type
4-M12X1.75P_DEEP 19
]
DISCHARGE PORT 0 38
390 273
166.5 131 228.6
50 81
[l $’§ o§ ™~ 1 1
L 3 e (5 T
| 1 = 65 A A N N
LT i % ¥
I i <
v T —_
"
2 m ‘ ' £ c \\ e
g < & s
]
S
\g
-'_ 7N Y
H % or—
3 4-0 22 HOLES
—t== 39 SPOTFACER 1 DEEP




O wINmAN

VQ Series Single Pump Decomposition Chart

VQ15
VQ20
VQ25
VQ35
VQ45

SVQ25
SVQ35
SVQ45
(DVQ45)

VQ Single Pump Parts List

NO.1 Retainer Ring NO.11 O-ring & Endless
NO.2 Seal Back-Up Ring
NO.3 Bearing NO.12 O-ring & Epdless
NO.4 Shaft Back-Up Ring
NO.5 Key

NO.6 Housing
NO.7 Cartridge Kit
NO.8 O-Ring
NO.9 Cover
NO.10 Cap-Screw

-



D WV N V1 A N e —

Typical Performance Characteristics (VQ Series)

VQ15-8 VQ15-11 VQ15-19
E 15 E 22 E 35 \\\18001pm
B g =200 s = 30 - .
& P & —em B | T ——150pm
g 13 - g 18 — QA ]  —
g 12—+ S 16500y, = g0 20
- —
£ o, £ ] E T 100,
11 ~ 14 15 e
I — 12 -
10 12 Olipr 10
9 =12 10 i
~1"Pn
— 8 10
7 8 8 16
6 % 6 = 2 B
2 2 2
4 5 4 B ——18 5
= o S —1-
1 2 E 2 § /: ”// 4 E
e o 2 Z o E P o B
£ £
0 35 70 105140175210 = 0 35 70 105140175210 0 35 70 105140175210 245
Pressure Kgf/cm2 Pressure Kgf/cm® Pressure Kgf/cm2
VQ15-14 VQ15-17 VQ15-23
£ 26 2 30— Z 45
= = 18 = )
2 U= A B B KL I T
) O, 5 —~_ | 3 —
S 2 S 26 S 35—
E 20t E 24 IS0y, £ 30 e
= 150, h T T T _li2og,, )
18 [Py 22 25 P
16 i o= 15 P i 117 O B
2 : 200,
Y oy 18 T - 15 =120
12 - T~ 100rm ™ 16 B Lo 16
~-Pm T %, ,
e e 12 ®
10 14 ——16 I =g e el
- 8 5
14 14 e :
12 {12 i 4 =
Z1 =
10 10 - 0 &
) 0 35 70 105140175210 245
8 8 ,
6 o P i 6 = Pressure Kgf/ecm
= 4 5 = 4 5
- E S
— 2 & S 2 &
i 0. & & 0. &
0 35 70 105140175210 245 = 0 35 70 105140175210 245 =

Pressure Kgf/cm2 Pressure Kgf/cm2



D WV N IV A N

Typical Performance Characteristics (VQ Series)

VQ15-26 VQ15-31
50 60
27— ispo 5 | ismg
s 40 — = 50 —
= | P — = ~—]
Sl E o |
=30 T?-@m\ C 40— - 1
g _\\\\\\000 T ‘g B I OO
= 20 nei L S \\Tgo\lpm —
— -~ I
{25 % i N e -~
20 £ 20 —=130%
~~415 ¢ 425 8
- 10 E -l 20,;%_,
/—///4/ _ 5 é / — 15 é
= 0 = -1 o
0 35 70 105140175 210245 ///// 45
Pressure Kgf/cm2 %/ 0
0 35 70 105140175 210245
Pressure Kgf/cm®
VQ25-18 VQ25-22
% 40 i % 45 i 1
B 1800 = [ %00m
5 30 R — 235 T3 ——
£V ispony, £ L o,
S 120001 — o — ——
2 20 T Tt E == 0 -
E P E 11900
~ 10 = s ===
1 % 125%
20% 202
_ o T ] 5
BEED EE2
A~ = [
L —T-17" 1 5 ////////’ 1 =
%’////’(/ g é‘ /%// (5) é‘
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/cm® Pressure Kgf/cm®
VQ25-26 VQ25-32
z 50 = 60
-—o< — ] | —
= 1500 2 500
3 40 3 50
= — —
g | \1500\11111"1 §-< | \15001pm M~
2 30 =200+ S 40 I
£ - _L1opor £ TT—1200m T
= ol | T = 30 =t~ toopre
- ~ = Ymm —
125% el T %
—20% 20 —30%
?////- 15 % P 25 %
——F . 102 205
== 15 & ///—155L
= 0 = = 105
0 35 70 105140175 210245 o= 5
2 —
Pressure Kgf/cm =

0 35 70 105140175210245
Pressure Kgf/cm >

Gl 0 _ e



D WV N IV A N

Typical Performance Characteristics (VQ Series)

VQ25-38 VQ25-43
70 80
2 60 - 1800rpy, 2 70 =180,
— | —1 > 1
2 50— Sl 2 60 I e 7 s et
g 12 T & ——
= 200y, = — 1200, —
240 \‘\lo%pm\\\ ?:50 \n\
-8 T+ g — -~ | l0pg, —
§30 === §40 =t
> < —
40 7 40 %
M N
130 5 30 &
— g P o
20 2 20 2
|, < e S
=== = = 5
] 0 £ =] 0o £
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/cm? Pressure Kgf/cm2
VQ25-52 VQ25-60
100 110
E — 18nn E L 18pg,
= 90 &m\ = 100 \n\
2,80 [— 2,90 =
5 1t 13001, 5 - L300,
3170 o 380 m
8 o =l | [T~ g T
g 60 —=rYpm g 70 ~_120y,
S -] In P S ~~Pm
50 < M6, 60 <1y
20 ik A T \\Olpjy\ \\\
50 & —=50 &
) ¥
40 5 40 =
- 30 E = ~ 30 E
=20 = > L—=1—120 «
s et 2 e 2
e 10 £ = 10 £
// 0 & 0
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/em’ Pressure Kgf/cm’
VQ25-65 VQ25-75
120 140
2 — 2
2 1101800, 2 130
- — +
2.100 3,120
§9o = 190004, §110
a3 m (@) 15D
£ 50 = £ 100 e
—]
~<- | 1dgg | T 200,
60 <W00mm 80 1
T+ T~ | 1gpy -
50 = 60 70 \~~‘L’Pm 60
50 ——+—{50
40 2 40 =
130 ¥ — 130 ¥
- 8 -7 )
B> oo ma 20 = S 20 2
- o — ]
= 10 & 10 %
= = = =
A 0o £ Ea 0o £
0 35 70 105140175 210245 0 35 70 105140175 210245
Pressure Kgf/cm® Pressure Kgf/cm®

Gl 2. _ A



D WV N IV A N

Typical Performance Characteristics (VQ Series)

VQ35-66 VQ35-82
120
2 1ol g /=
= —900rpm, = 140 ~—300rpr,
£ 100— — 5 130 L
£ 90 = ! £ 120 =+ -
= —t
S T pm S L1500,
= 80 |— — = 110 i |
g . — o g -1
S ~=200mpm S 100/
60 = — : 90 1
“‘\\J§Q0§pm ] \@m
L 80 =ttt —
] ~--L10 Orpm [
==t 60
50 50
i~ E
40 = 40 2
=30 & 30 5
[— o B - 15}
Ll 2 L0 B
T 4= ~ T ¥
e 10 =5 . 10 5
e 0o £ el 0 &
0 20 40 60 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/cm” Pressure Kgf/cm®
VQ35-88 VQ35-94
160 180
S ——F—TT T1do z _]
2 140 —300rpm — S 160—— L1800
B~ — I = — L
= 120 = 13004 = 140 —
=5 ——— Pt = 11 13004
£ 100f— P00, £ 120 =
= ———1 *4U0rpm =
o - ARt | @) —
= 80 ——== —~—~1_p_nf‘5u B = 100 = E%i
E E oo |1kl | 10hos T+
Q Q 80 —»%_,_‘\_
60
60 60
50 50
I~ B
— 40 5 40 3
0 5 T30 B
= emr 20 = = 20 3
i £ o
Z=T | 10 5 e 10 =
= 0 £ L 0 £
0 20 40 60 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/cm” Pressure Kgf/cm®
VQ35-108 VQ35-116 VQ35-125
220 3220 3240
] o — )
2200 1] 2200 {18005 2220
=180 =800 21 80 = g 200
5160 =150 = gi6o 3 1300y 5180 \_\iﬂ,{%
=140 pm. 2140 — 1 =160 —
—— , i —— 12 ———
E120 2005, E120 =200 £140 —+2001pm,
100 F=t~—==—t e 100 e o T 120 FF=A—=t— — s
“1-=--1000rp \‘Eﬂm\’?\ -4~ 1900py,
oo 100
i 100 100_
80 & 80 80 5
j=7 | ~ =
60 & 60 5 r 60 &
Lt 2 e 0 B
e e i P P e e I I~ 1 =
e 20 5 e 20 5 =t 20 5
=T | 0o § |l= 0 £ |l==1 0 £
0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210 0 20 4060 80 100120140160180 210
Pressure Kgf/cm2 Pressure Kgf/cm2 Pressure Kgf/cm2



D WV N IV A N

Typical Performance Characteristics (VQ Series)

VQ45-136 VQ45-156
280 300
2 260 £ 280
S 240 18001, B 260 |————18001pp,
&220 — 2.240 —
= _ 150p. = 1500
O 200 ———V0rpm A& 220 i —— e
E 180 ; = £ 200 1
E 10— 20rpr— £ 180 L2008 — 110
140 [===t——T—10pp 100 160 (=== 000k, | 100
120 —==tIPm___| g 140 —==Pm | 1go
100 80 120 80
70 70
60 = 60 =
. 0% {502
=140 5 <= 40 5
= 30 £ ~ 30 2
g = 20 & o< 20 &
= 10 & = 10 2
Z 0= £ 0 =
0 35 70 105 140 175 0 35 70 105 140 175
Pressure Kgf/cmZ Pressure Kgf/cm2
VQ45-189 VQ45-216
> 340 = 360 ——
= 320 1800epm 5 340 ——=500ipm,
= 300 = 320 —
& 280 F=————1—1500mm; 8300 1505 140
& 260 —P 130 & 280 Pm_—— 130
E 240 120 é 260 120
£ 220 1200 110 £ 240 110
S ———=00rpm S — 2
200 ; 100 220 ——==00pm, 100
180 | —====—+—1000eppy = 99 200 =155 7| %
160 80 180 == L 80
70 170
— 60 =~ - —" 60 —
—=" 50 é . 50 é
)2 40 5 -~ - 40 5
> 30 2 > 30 2
— 20 & “ 20 =
10 2, % 10 3,
Z” 0o = 0o =
0 35 70 105 140 175 0 35 70 105 140 175
Pressure Kgf/cm® Pressure Kgf/em®
VQ45-237
5 440
2 420
= 400
£380 140
S 360 130
£ 340 ——=—t100mm | 5,
S 320 110
/
300 100
280 - 200y 90
260 80
240 ———— 1000 = 70
220 *‘“‘-—IP’E]/ — 60
e
200 C 50 &4
- 40 =
a 30 %
7
< 20 #~
10 2
v 0 g

0 35 70 105 140 175
Pressure Kgf/cm®

Gl 1 _ e



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

